20244 & (E5E]) FrLoPhyT [R#EZx]

BifEH 202459 8278(%) K&/ EY

FESAT: EREEHh ) —95T PAR T2 =BT )L 7ES
(BF) F4/T1ELE 15— 6,248Y [2=L-F4—2 5,019Y [3]=0—/LK 5502Y SinE4k: 1284
JEfiz. NET AL B PHC 1R (OUT/IN) JEfE NET i ES il PHC 1R (OUT/IN)
1 680EZD it weFyy 11 79 (41/38) 51 77 BH FE =SHEE 6 83 (42/41)
2 690Z=IE B =RH 5 74 (37/37) BG 52 71 IMNE HEAER We 4 81 (41/40)
3 690&/H EE e 13 82 (40/42) 53 77 kR K— SEHEE 22 99 (50/49)
4 7008l {CFE Ho® 20 90 (48/42) 54 77 BR BoE R8540 7 84 (42/42)
5 70 O P& M RSEER 14 84 (41/43) 55 77 X £k BHX #Ho# 15 92 (46/46)
6 00FH mH smEE 10 80 (39/41) ! 56 77 R EAB sese 10 87 (43/44)
7 70 O Il BA =HRE 18 88 (42/46) 57 771  #%H T REKR 22 99 (49/50)
8 7MO#HK MR #HorH 13 84 (43/41) 58 77 & E— #Ho#E 14 91 (45/46)
9 MOB/E FHA JL—HMIE 20 91 (45/46) 59 77 LEE  MEE HOH 24 101 (50/51)
10 72 O #F —IF REEE 13 85 (46/39) 60 77 & % —% HOAE 5 82 (39/43)
M 120%k  —z =@m 12 84 (45/39) 61 77 R #® K 10 87 (42/45)
12 7203 EX HUE 13 85 (44/41) 62 77 kR mth SHEE 17 94 (45/49)
13 720#&4K #3 REEHE 18 90 (45/45) 63 77 OB ABR BExL 9 86 (41/45)
14 72 0 &% - 1} 18 90 (45/45) 64 77 F& BE =ZERE 21 98 (47/51)
15 72 0 AR H- HO#H 15 87 (42/45) 65 77 % &Rk HE WBIFVvY 8 85 (39/46)
16 730 EF B— Ju—HlE 23 96 (51/45) ¢ 66 78 A®m EX SJL—HUE 13 91 (49/42)
17 73 O K& BT RI—=959> 8 81 (43/38) 67 78 FHL BB ®REIERE 13 91 (48/43)
18 73 O EH# f REE 12 85 (42/43) 68 78 RJI IlE— =R E 22 100 (51/49)
19 73 O MH 2 EHRE 16 89 (44/45) 69 78 FHII £ #HoLE 16 94 (48/46)
20 730 8K HE =EHRE 29 102 (50/52) 70 78 x $BX 2 KiF 7 85 (43/42)
21 73 EtE == #Howm 12 85 (42/43) 71 78 BE BT R/5-589 10 88 (45/43)
2 13 FE Z5 EHEE 13 86 (41/45) 72 718 HA B ez 6 84 (42/42)
23 73 HM fE EHeE 25 98 (47/51) 73 18 Ik B =R 12 90 (45/45)
24 714 HT #—8B =H% 9 83 (45/38) 74 18 #HII AE THEH 7 85 (41/44)
25 74X A EFE— ik 20 94 (47/47) 75 78 < EiE B e 20 98 (48/50)
26 74 BE @R =wmes 24 98 (49/49) 76 718 AN BmE =8E 14 92 (43/49)
27 74 Krmh BB REIERE 10 84 (41/43) 77 719 JIE MK Kig 7 86 (44/42)
28 74 HIE =8 =HeE 19 93 (45/48) 78 719 X TF =HEE 26 105 (54/51)
29 75  EW KE =ZmRE 17 92 (50/42) 79 719 ER NP 4 83 (43/40)
30 75 % Rifg b VAT, L1y A, 8 83 (43/40) 80 79 % R & phat 15 94 (47/47)
31 75 8Kk 5 Xl 10 85 (44/41) 81 79 BII = mgeE 13 92 (46/46)
32 75 KXH —iF REFYY 11 86 (44/42) 82 79 HE E— REFYY 9 88 (44/44)
33 75 IEE  HE En 14 89 (45/44) 83 80 /MY EE HHEE 17 97 (53/44)
34 75 #HiRK HE HOL 6 81 (41/40) 84 80 /IME fT— JL—MUE 19 99 (52/47)
35 T5XER HBFE HOH 9 84 (41/43) 85 80 X ¥fE  MHER KA 20 100 (53/47)
36 75 ML @Eo =s 15 90 (44/46) 8 80 &R ¥ =geE 23 103 (52/51)
37 75 B EF— =HEE 11 86 (41/45) 87 80 FBEA  EE Wwa 17 97 (49/48)
38 75 EEk Fh EHRE 11 86 (41/45) 88 80 PuE EAN HOH 5 85 (42/43)
39 75 KI5 E Ho# 12 87 (41/46) 89 80 {RiE Bk R 17 97 (46/51)
40 75 * {RiE i =R 15 90 (41/49) 90 80 X RE ZHA EERE 14 94 (45/49)
a1 16 ZE | Bl =@EE 6 82 (42/40) ¢ 91 80 NB BB goas®E 787 (41/46)
42 76 MR HXR =SHE 17 93 (46/47) 922 81 &R ER Ea 17 98 (52/46)
43 76 KR B s OY/NES| 11 87 (43/44) 93 81 [EH F EHRE 22 103 (53/50)
44 76 I\E =Eh ik 10 86 (43/43) 94 81 E®& E— @EE 14 95 (48/47)
45 76 Y & RE bHEL 15 91 (44/47) 95 81 % ¥R E— =HERE 14 95 (47/48)
46 76 A mE o=s 1187 (42/45) 9% 81 &= | B sess 16 97 (47/50)
47 76 =ik & EHRE 21 97 (46/51) 97 81 #iAK {EXER Ml 9 90 (43/47)
48 76 H FHx JL—Mus 30 106 (50/56) 98 81 B Mt =SHEE 10 91 (44/47)
49 71 =i B EHEE 26 103 (55/48) 99 81 RE ik =HE 6 87 (41/46)
50 77 % ¥l BER] Kt 17 94 (48/46) 100 81 % =i# B s 12 93 (43/50)
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FESAT: EREEHh ) —95T PAR T2 =BT )L 7ES
(BF) F4/T1ELE 15— 6,248Y [2=L-F4—2 5,019Y [3]=0—/LK 5502Y SinE4k: 1284
JEGE NET BRESA BB PHC 1R (OUT/IN) JEHL NET BEESA BB PHC 1R (OUT/IN)
101 82 EJI JE—ER JL—Mus 9 91 (48/43)

102 82 M| Bt EDH 7 89 (46/43)

103 82 AR ¥ =EEE 19 101 (52/49)

104 82 EEHE FMER R/S—Vaov 12 94 (48/46)

105 82 ¥ dtth Rth HHsE 9 91 (46/45)

106 82 &Kk mk & 9 of (a4/a7) T
107 82 #ith XFE EHEE 16 98 (44/54)

108 83  [AE BT ez 7 90 (48/42)

109 83 JI# B =HeE 12 95 (49/46)

110 83 % H# L & =6 11 94 (47/47)

111 83 AHE  HA =wmEs 8 o1 (a4/47) T
112 84 Ei5 B =HEE 21 105 (54/51)

113 84 B HE mEmEE 22 106 (53/53)

114 85 &= 2 HOLE 11 96 (50/46)

115 85 % Hf —IE JL—Mu& 14 99 (51/48)

116 85 ek & Kl 10 95 (48/47)
117 85 HiH B EHRE 15 100 (49/51)

118 85 &5 A EHRE 15 100 (44/56)

119 86 {Efk E%ih #HO#H 15 101 (52/49)

120 86 * HEH BE ik 20 106 (54/52)

121 86 RE  AM =wmEs 18 104 (51/53)
122 86 EEE Ak =HEE 8 94 (43/51)

123 86 #EE  —EF W& 19 105 (48/57)

124 87 [AE B mHRE 16 103 (52/51)

125 87 % KA FTE EHRE 28 115 (57/58)

126 88 FARE E =@eE 12 100 (49/51)
127 89X KHE EFE— EHRE 14 103 (51/52)

128 96 & I & =EHRE 26 122 (63/59)

Ri5 kR R A REIER 24

RE ferk B EWRE 2D e e
Ri5 £k EF— EEEE 6

Ri5 1k EEx =H% 13

Ri5 ETH FEh EHRE 10

Ri5 =H EE =HEH 15
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[RE=R]

EHETILTER

(ZF) T4/ 1L ¥ 25— 6,248Y [2]=L-T4—X 5,019Y [3]=0—/LK 5502Y Sn&E%:184%
JEfiz. NET AL B PHC 1R (OUT/IN) JEfE NET i ES il PHC 1R (OUT/IN)
1 690 MgE == @LE 10 79 (42/37)
2 1BOHEF EBEF #HosH 13 86 (46/40)
3 730EHH HF EHRE 12 85 (45/40)
4 730MEH XU HOH 7 80 (41/39)
5 740 %kHE HEF #HoLE 4 78 (40/38) BG
6 140 @A =z ma 15 89 (44/45) T
7 7TTOEBHE =RF EHRE 17 94 (48/46)
8 7710 RAINFHRF =HRE 18 95 (47/48)
9 7710 XK# ShEE HDAE 6 83 (41/42)
10 78 O H)Il XFF EERE 20 98 (49/49)
1178 8Kk EE Howm 10 88 (41/47)
12 79 K BF Al 9 88 (46/42)
13 79 WA LA =HEE 21 100 (48/52)
14 81 Il REF nBSEHE 4 85 (44/41)
15 83 % Ml  ¥X HoO®W 13 96 (46/50)
6 84 A ER ws 28 112 (55/57)
17 87 ¥ B U ik 12 99 (50/49)
18 8T X% ER UV&H HOLE 11 98 (45/53)
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